quatro fragdes, ordem das operagoes

Nome
1 3 1 3
- X —4 — =
4 4 2 5
1 1 1 3
-+ _xZ=
4 3 2 5
1 1 3 2
—+ 4+ xZ=
2 4 2 3
+27><1*9—
7’

1 1
99x = +9+ — =

5 6

Encontro: Data: Pontuagao:
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quatro fragdes, ordem das operagoes

Nome
1 3 1 3 19
—_— e X -t — = —
4 4 2 5 40
1 1 1 3 53
4+ —_x ===
4 3 2 5 60
1 1 3 2 7
4+ xZ=_=1
2 4 2 3 4
1 5
27 x-+9=1=]
4 4
1 71
—_ = F+ —= — =
99><5 ) 6 30

1w

Encontro: Data: Pontuagao:
3 2 3
I 11 1
IX=+]l+=-=—=1—
2 1 10
I 1 1 3 31 1
—_F - X -t - = — = 2__
2 5 3 2 15 15

3 1 7 1
5 OO><2 0 (2) (32)
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